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QUESTION 1

Which two problems can a computer solve efficiently by using iteration as part of the algorithm? (Choose two.)
A. Counting the number of times a specific word appears in a book

B. Finding the first 1000 digits of pi

C. Evaluating two player scores to determine a winner

D. Extracting the meaning of a paragraph of text

Correct Answer: AC

QUESTION 2

You are hired by a taxing authority to create an algorithm for calculating income tax. The income tax system is a
progressive tax system.

Any income at $10,000 or below should be taxed at 10 percent. Any income greater than $10,000 but less than $50,000
should be taxed at 20 percent. Any income at $50,000 or greater should be taxed at 30 percent. An example of how the

system works is shown in the following table.

Income Taxed at 10% Tﬂi&d at 20% | Taxed at 20%
$10,000 $10.000 & 0
$50,000 $10.000 ¢ $40.000 0
$51,000 $10.000 < | $40.000 $1.0C0

How should you complete the pseudocode? To answer, select the appropriate pseudocode segments in the answer
area. NOTE: Each correct selection is worth one point.

Hot Area:
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Answer Area
IF Income w | THEN
> 50000
<=10000
i

30 * Income

10 * Income

0.30 * Income @
: ©

0.10 * Income @xﬁ

ELSE IF income “THEN

@ 20 * Income
0.20 * Income
1000 + 0.20 * (Income - 10000

ELSE

TAX = ‘r

30 * Income
0.10 * Income

0.30 * Income
9000+ 0.30 * (Income 50000|

ENDIF
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Correct Answer:
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Answer Area
IF Income w | THEN
> 50000
<=10000
i

30 * Income

10 * Income

0.30 *Income @
- ©

0.10 * Income @xﬁ

ELSE IF income “THEN

@ 20 * Income
0.20 * Income
1000 + 0.20 * (Income - 10000

ELSE

TAX = ‘r

30 * Income
0.10 * Income

0.30 * Income
9000+ 0.30 * (Income 50000|

ENDIF

98-380 PDF Dumps | 98-380 Study Guide | 98-380 Braindumps 5/18


https://www.pass4itsure.com/98-380.html
https://www.pass4itsure.com/98-380.html
https://www.pass4itsure.com/98-380.html

VCE & PDF https://www.pass4itsure.com/98-380.html
2021 Latest passditsure 98-380 PDF and VCE dumps Download

PassditSure.com

QUESTION 3

You are helping some of your brother’s friends with their math homework. Each of them writes down the problem and
solves it. Two of your brother’s friends have the same answer, while the third has a different answer.

Friend 1 Friend 2 Friend 3
3-2%(9+3)/ 12 S VR R L T
3-2%12/12 3-2%12/12 @@ S TR,
1%12/12 R M ,JI,” B3

F
el
12/12 3-2 o _12/12
ﬂ.a‘g}_‘w_};d
1 o -1

You need to determine which friend used the correct logic to answer the problem.

For each of the following statements, select Yes if the statement is true. Otherwise, select No.

NOTE: Each correct selection is worth one point.

Hot Area:
Answer Area Yes No
Friend 1 uses the correct process to calculgﬁ%e & &
correct answer. @5
. ﬂ':?ki‘::'h
-ﬂ!z:'-.f.-\"\te'f
- x {K&EI
Friend 2 uses the correct pruceg&‘;\ﬂ“’calculate the O =5
correct answer. %E\’”’
. r_-i:?:j.";\” =
Friend 3 uses the corret process to calculate the () &

correct answer.

Correct Answer:
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Answer Area Yes No
Friend 1 uses the correct process to calcullgjjx:;gz.'the O (>
correct answer. @
oS

] '\\{::';:}:;: o

Friend 2 uses the correct process.to calculate the O -
-\.'f.:-.:-.::'--f
correct answer. ol
) ::“'-,-‘%"\"

Friend 3 uses the correét process to calculate the O o

correct answer.

QUESTION 4
You have a basket of eight apples.
You want to give one of the apples to your best friend Jo Berry. You decide to pick the one that weighs the most.

You need to analyze the following methods and determine whether that method can be used to consistently achieve
your goal.

Method 1:
For each apple, measure its weight using a scale. Write down the weight on a sticky note.

Put the sticky note on the apple. Ensure that the same unit of measure (e.g. ounce, gram, or kilogram) is consistently
used. Once all apples have been measured, find the apple with the largest number on its sticky note.

Method 2:
Divide the apples into two lots. Each lot should have four apples. Compare the weight of the two lots using a balance
scale. Put the lighter lot aside. Divide the remaining apples into two lots of two apples. Compare the weight of the two

lots

using a balance scale. Put the lighter lot aside. Compare the weight of the two remaining apples. The heavier apple is
the one that weighs the most.

Method 3:

Take two apples from the basket. Use a balance scale to compare them. Keep replacing the lighter apple on the
balance scale with another apple from the basket until the basket is empty. The heavier apple remaining on the scale is
the one

that weighs the most.

For each of the methods, select Yes if the method can consistently achieve your goal.
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Otherwise, select No.

NOTE: Each correct selection is worth one point.

Hot Area:
Answer Area Yes No
D
Method 1 C‘% 3
Method 2 - O O

Met@d@?a () &

Correct Answer:

Answer Area Yes No
oy

Method 1 *

Method 2 - O O

Met@ﬁt\a O &

QUESTION 5

You are building a game using Touch Develop. You have the following sprite sheet.

* A

The width of the sprite sheet is 300px, and the height of the sprite sheet is 75px. The shapes in the sprite sheet are
evenly distributed.

You need to complete the code to display the purple five-pointed star.
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What code should you use? To answer, select the appropriate options in the answer area.

Hot Area:

Answer Area

function main ()

var board = & game — start

sheet — set frame grid (BBZ7/, |

Correct Answer:

Answer Area

function main ()

var board = & game — start

sheet — set frame grid (BBZ7/, |
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QUESTION 6
You work as a game developer at Tailspin Toys.

Your colleague created a script to display an animation using the following sprite sheet and Touch Develop code.

How will many times will the animation play?

Hot Area:

Correct Answer:
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QUESTION 7

You want to allow a user to choose a picture from his or her device.

Which library includes a function that will accomplish this goal? To answer, select the appropriate library in the answer
area.

Hot Area:

Answer Area

board N wall N &game‘ colcrﬁ @ art R | math b

o

time b senses " N O libs bazaar locations b

W, TS| -

media cﬂller:tiunn web invalid e maps

|
phone languages

Correct Answer:
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board wall O game colors,. f»\» o art math
f':_.‘%‘
time senses > code ‘#ﬁz‘l; I|b5 bazaar locations
: \ N
media | collections {J}a@:*r web invalid maps
! &
. D
phone languages social

References: https://www.touchdevelop.com/docs/how-to-search

QUESTION 8

You are creating a program for Blue Yonder Airlines that will run on an automated boarding pass scanner. The program
will track the number of passengers who have boarded a 60-seat airplane. The program will display the appropriate

message on the boarding pass scanner.

In the past, this has been a manual process. You receive the following table as an example of the process.

Total Passengers Onboard & Message

1 Welcome to Blue Yﬂﬁi@ff‘ﬁﬁiines! Your plane will continue to board
24 Welcome to Blue "{Qﬁﬁfﬂar Airlines! Your plane will continue to board
30 Welcome to B;Llﬁa?nnder Asrlines! Your flight will begin shortly

&0 Please see aHicket agent for alternative flight

You need to create the WHILE loop that will allow Blue Yonder Airlines to track their passengers and display the correct

screen message.

Which five pseudocode segments should you use to develop the solution? To answer, move the appropriate
pseudocode segments from the list of code segments to the answer area and arrange them in the correct order.

Select and Place:
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Pseudocode Segments Answer Area (move 5 pseudocode segments)

IF numPassengers < 50, THEN PRINT "Welcome aboard
Blue Yonder Airlines! Your plane will continue to board."

ELSE PRINT "Welcome aboard Blue Yonder Airlines! C(@Qi@
Your flight will begin shortly.” /63

\'@
END WHILE @\j

PRINT "Please see a ticket agent for an alternate flight." @

1
ELSE PRINT "Please see a ticket agent for an alternate flight.” @@)
)
END WHILE OC
3
ELSE IF numPassengers > 60, THEN PRINT "Welc -aboard
Blue Yonder Airlines! Your flight will begin sho A

D

Scan a boarding pass and increment numPassengers

WHILE numPassengers < = 60 DO

Correct Answer:

Pseudocode Segments Answer Area (move 5 pseudocode segments)

Scan a boarding pass and increment numPassengers

' ; AN
WHILE numPassglé%ﬁs < = 60 DO
=
| ey
IF nu ‘sfe‘hgers < 50, THEN PRINT "Welcome aboard
Blye er Airlines! Your plane will continue to board."
PRINT "Please see a ticket agent for an alternate flight." & &
% SE PRINT "Welcome aboard Blue Yonder Airlines!
| . " . "
ELSE PRINT "Please see a ticket agent for an alternate flight." @ our flight will begin shortly.
"
EDEEMIHILE ©C END WHILE
ELSE IF numPassengers > 60, THEN PRINT "Welc s -aboard
Blue Yonder Airlines! Your flight will begin sho A
2
QUESTION 9

Your coding team is creating a weather app. The application must allow the user to input a wind speed and see if the
storm is a hurricane. If the storm is a hurricane, the app should also determine which category of storm it is on the Saffir-

Simpson Hurricane Wind Scale.
The Saffir-Simpson Hurricane Wind Scale is defined as follows:

Category 1 is 74-95 MPH Category 2 is 96-110 MPH Category 3 is 111 to 129MPH Category 4 is 130-156 MPH
Category 5 is 157 MPH and above

Four team members have proposed pseudocode to meet this requirement.
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Which pseudocode is in the appropriate logical order?
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 10

You are creating a graphic that illustrates an overview of the entire software development life cycle.

Which order correctly describes the steps that occur prior to release and deployment? To answer, drag the appropriate
step to the correct position in the life cycle. Each action may be used once, more than once, or not at all. You may need
to

drag the split bar between panes or scroll to view content.

Select and Place:

Steps Answer Area

Design

Testing

Maintetance

Requirements gathering

Construction and implementation

e

Ceployment
and Release

&

\ ;
3

-

Correct Answer:
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Steps Answer Area
P —
Reqyf@ﬁients gathering
~

o J
B0 e mere——

Mg'{l@\g:tance Design

) I

| G J
P, Ii
/G"f) I i

‘0
Ceployment | | Construction and implementation

A N) and Release

Testing
By b

QUESTION 11

You are decorating the gymnasium for prom. You have 100 packages of balloons. There are 18 balloons of five different
colors in each package. You do not know how many balloons of each color are in a package, but you do know that
each

package contains some blue balloons and some white balloons and that there are at least 50 balloons of each color.
You need to initiate 50 blue balloons and 50 white balloons with helium.

A classmate has recommended the following algorithm:

Repeat Until there are 50 inflated blue balloons
Open a package. &
Repeat Until there are no blug balloons in the package
Take a blne halloon fr-rw&m package and inflate 1t
Take a white ha].innrfé’:m the package and nflate 1t.
fa
End Eepeat Q@.‘?

End Repeat

You need to evaluate the result of using this algorithm.
Which three conditions will result from inflating balloons using this algorithm? (Choose three.)

A. There might be white balloons left over in multiple open packages.
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B. You will inflate the correct number of blue balloons.

C. You might inflate too few white balloons.

D. There might be blue balloons left over in multiple open packages.
E. You might inflate too few blue balloons.

F. You will inflate the correct number of white balloons.

G. You might inflate more than 100 balloons.

Correct Answer: ACG

QUESTION 12

You are preparing to teach a class on using loops. You write the following pseudocode:

INPUT a
INPUT b 8
AP
SET result TO 0 @*
WHILE a <= b &
SET resulf TO result + =z
. lr;'\%:%
SET a @0 a + 1
{{}D} )
END WHIlE
OUTPUT result

You need to test the pseudocode using different values.

Match the final values of the variable result to the corresponding initial values of variables a and b. To answer, drag the
appropriate result value from the column on the left to the initial values on the right. Each value may be used once,
more

than once, or not at all.

NOTE: Each correct match is worth one point.

Select and Place:
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Result Values Answer Area
-1 — ]
a ﬁnd b=1
0 ‘=0andb=2
1 a=2andb=2
2
3 6
a4
Correct Answer:
Result Values Answer Area
-1
P
@ 1
3
2
a4
98-380 PDF Dumps 98-380 Study Guide 98-380 Braindumps

98-380 PDF Dumps | 98-380 Study Guide | 98-380 Braindumps 17/18


https://www.pass4itsure.com/98-380.html
https://www.pass4itsure.com/98-380.html
https://www.pass4itsure.com/98-380.html
https://www.pass4itsure.com/98-380.html
https://www.pass4itsure.com/98-380.html
https://www.pass4itsure.com/98-380.html

VCE & PDF https://www.pass4itsure.com/98-380.html

2021 Latest passditsure 98-380 PDF and VCE dumps Download
PassditSure.com

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success

100% Money Back Guarantee

365 Days Free Update

Instant Download After Purchase

24x7 Customer Support

Average 99.9% Success Rate

More than 800,000 Satisfied Customers Worldwide

Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.pass4itsure.com/allproducts

Need Help

Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Submit A Ticket

One Year Free Update Money Back Guarantee Security & Privacy

Free update is available within One To ensure that you are spending on We respect customer privacy. We
Year after your purchase. After One quality products, we provide 100% use McAfee's security service to
Year, you will get 50% discounts for money back guarantee for 30 days provide you with utmost security for
updating. And we are proud to from the date of purchase. your personal information & peace

boast a 24/7 efficient Customer of mind.
Support system via Email.

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.
Copyright © passditsure, All Rights Reserved.

98-380 PDF Dumps | 98-380 Study Guide | 98-380 Braindumps 18/18


https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.pass4itsure.com/98-380.html
https://www.pass4itsure.com/98-380.html
https://www.pass4itsure.com/98-380.html

